BIG BIKE PARTS INSTALLATION INSTRUCTIONS

{lﬁﬂ? PART NO. H41-150BK TRUNK ORGAN'ZER
= FITMENT: | CAN-AM SPYDER RT — 2010-NEWER
TOOLS NEEDED: | T30 TORX DRIVER RUBBING ALCOHOL | LINT FREE TOWEL | REMOVABLE THREAD LOCK |

PLEASE READ THROUGH AND UNDERSTAND THESE INSTRUCTIONS BEFORE BEGINNING. USE REMOVABLE THREAD LOCK ON ALL SCREWS.
ESTIMATED INSTALLATION TIME: 15 TO 20 MIN. NOTE: THE ADHESIVE ON THE HOOK STRIPS TAKES ABOUT 24 HOURS TO CURE AFTER INSTALLATION.

INSTALLATION:

CLEAN THE INSIDE OF THE REAR TRUNK WITH RUBBING ALCOHOL AND A LINT FREE TOWEL AND LET DRY.
USING A T30 TORX DRIVER REMOVE THE M6 X 20MM LONG SCREW SHOWN IN FIG. 2 MARKED “6B”.
NEXT REMOVE THE M6 X 24MM LONG SCREWS SHOWN IN FIG. 3 AND FIG. 4 MARKED “7C” AND “8C”.

REMOVE THE 3” LONG PIECE OF HOOK FROM THE ORGANIZER MARKED AS “1A” AND ATTACH IT TO THE UNDERSIDE OF THE LEDGE ON THE TRUNK
IN THE AREA SHOWN IN FIG. 2. NOTE: USE FIG. 1 TO REFERENCE MARKING NUMBERS.

REMOVE THE TWO 2-1/2” LONG PIECES MARKED “2A” AND ATTACH THEM AS SHOWN IN FIG. 2.

6.  START INSTALLING THE ORGANIZER BY ATTACHING THE LOOP AT “1A” TO THE HOOK YOU JUST INSTALLED. THEN PUSH THE BOTTOM IN AND
ATTACH THE HOOK AND LOOP MARKED “2A”.

REINSTALL THE M6 X 20MM LONG SCREW THROUGH THE ORGANIZER AND BACK INTO PLACE. TIGHTEN.
REMOVE THE FILM FROM THE HOOK ON THE TWO PIECES MARKED “3A” AND PUSH INTO PLACE.

9.  REINSTALL THE FOUR M6 X 24MM LONG SCREW THROUGH THE ORGANIZER AND TIGHTEN. NOTE: THE TWO SCREWS AT THE “8C” POSITION YOU
WILL NEED TO PULL THE MESH POCKET DOWN TO TIGHTEN THEM.

10. REMOVE THE FILM FROM THE TWO PIECES OF HOOK MARKED “4A” AND PRESS THEM INTO PLACE.
11. REMOVE THE FILM FROM THE TWO PIECES OF HOOK MARKED “5A” AND PRESS THEM INTO PLACE.

P W NPR

"BACK SIDE"

FIG. 1

Learn more about motorcycle accessories we have.


https://www.motorcycleid.com/hopnel/
https://www.motorcycleid.com/accessories.html



